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#include <<reghl.h>
# define uchar unsigned char /7 5E X
sbhit Key = P174; // 7R R O
sbit D1 = P2 "0; //P I Dy LED 4T4: 0
void Delay(int x) //GE R} BRI, FERT xms
{
while(x——)
{
uchar i;
for(i = 0; i << 110; i++); // PR FERT Tms
}
}
uchar KeyScand()
{
if(0 == Key) VAL i35 £
{
Delay(10); //3ER} 10ms, L35
if(0 == Key) /RS R R

{
while(0 == Key); e T5%3i 2004



RAZ BT @
return 1; / /3% 1l A 1
}
else [/ R0, 28 78 He S T i IS A2, BB AR oK 4 B4R AR
{
return 0;
}
}
else
i
return 0;
}
}
void main()
{
D1 = 0;
while(1)
{
if(KeyScand())
{
D1 = ~Di;

)
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#include <<regh1.h>

# define uchar unsigned char /)% 5E X

uchar SegCode[5]= /BN TR, 0~4
{0x3f,0x06,0x5b,0x4f, 0x66} ;

/*************
PR R void delay(uint x)
PRECTIfE : S xms JE
AHZHCG x, W RE 2
iR [ TG
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void delay(int x) //ER] PR %L, ZE B xms
{
while(x——)
it
uchar i;
for(i = 0; i << 110; i++); //PFBEE R} Tms
}
!

PR 4 F : uchar KeyScand()
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uchar KeyScand()
{
uchar temp = 0;

uchar key = 0;

temp = P1 & 0x0f; /U 4 i fE
if(0x0f !'= temp) /7 FVWT IS T
{

delay(10); //3ERF 10ms, Z#} 3

temp = P1 & 0x0f;
if(0x0f ! = temp)
{
key = temp;
switch(key) // BUAS F (E
{
case Ox0e : key = 1;break;
case 0x0d : key = 2;break;
case 0xOb : key = 3;break;
case 0x07 : key = 4;break;
default : key = 0;break;
}
while(0x0f !'= temp) temp = P1 &. 0x0f; / /% e s BETiL

}

return key;
}
/***********
B4 FR - void main()
PRECRE : ARG R RS BT R
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void main()

uchar key = 0;

PO = SegCode[0];

while(1)

{
key = KeyScand(); WEEE Ei'g:
if(key 1= 0)

{
PO = SegCode[key] ;
}
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# include < reg51.h>

# define uchar unsigned char /1% E X

uchar SegCode[10]= /) BRI, 0~9
{0xc0,0xf9, 0xad,0xb0,0x99,0x92,0x82,0xf8,0x80,0x90} ;

/*********
RE 4 B void delay(uint x)
RO GE : S2BL xms HE
AL ZSH: x, @ b iR £
SR CIE (=
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A @A A . 2011-06-12

void delay(int x) //IEW] PR, ZEBF xms
{
while(x— —)
{
uchar i;
for(i = 0; 1 << 1105 i++); // A ERIERS 1ms
}
}
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R B4 Bk - uchar KeyScand()

PR T BE - R A TN, A 00 R A e 4 T
ALUZH: T

R AME : 4% T W HE

PREIER : T IK

B wHA] . 2011-06-12

uchar KeyScand()
{
uchar temp = 0;

uchar key = 0;

P1 = 0x0f; /5 £ v T AT 4R A P
temp = P1 & 0x0f; / /2% 1/ 0 S
if(0x0f !'= temp) //FN WA R
it
delay(10); //3ER} 10ms, 835
temp = P1 & 0x0f; [/ FRIEFNLE 1/ 0 B
if(0x0f !'= temp)
{

temp = ~temp; /T BUZ



